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Finding Quadrant based on Coordinates Name:

Deter mine which quadrant each pair of coordinateswill bein. Answers

) ‘ Ex. -~ <~ =+ &
) ] . -

Ex) (8‘,'18) (-8,-18) (8,-18) (-8,18) 2 __
1) (15,-4) (-15, -4) (-15, 4) (15, 4) 3.
2) (19,150  (-19,-15)  (19,-15) (19,15 4
3) (-13,1) (13,-1) (-13,-1) (13,1) 5. __
4) (19,9 (-19,9) (-19,-9) (19,-9) 6. __ _  _  __
5 (-1,-3) 1.-3) 1.3 (-1,3) T _
6) (-9,-9) 9,9) 9,-9) (-9,9) 8 _ _  _  _
7) (-8,-5) (8,-5) (8,5) (-8,5) o0 _ _  _ _
8) (-15,-4) (15, -4) (-15, 4) (15, 4) 0. _
9 (-3,-1) (3,1 (-3,1) (3,-1) mw
10) (-10,8) (-10, -8) (10, -8) (10, 8) 2
11) (15, -4) (15, 4) (-15, 4) (-15, -4) B
12) (-3,7) (3,7 (-3.-7) 3,-7) 14
13) (-6,-4) (6, 4) 6,-4) (-6,4) 5
14) (-5,7) (-5.-7) 5.-7) 5.7 % _
15) (14,9) (-14,9) (14, -9) (-14, -9)

16) (7,-17) (-7,-17) (-7,17) (7,17)
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Deter mine which quadrant each pair of coordinateswill bein.

Finding Quadrant based on Coordinates

Name:

Answer Key

A

A

Ex)

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

v

(8, 18)

(15,-4)

(-19, 15)

(-13, 1)

(19, 9)

(-1.-3)

(-9.-9)

(-8.-5)

(-15, -4)

(-3.-1)

(-10, 8)

(15,-4)

(-3.7)

(-6.-4)

(-5.7)

(14,9

(7,-17)

v

Answers
Ex. -~ < = &
1 4321
(-8,-18)  (8,-18) (-8, 18) 2 2341
(15,-4)  (15,4) (15,4 32431
(-19,-15)  (19,-15) (19, 15) 21 2 3 4
(13,-)  (13,-1)  (13,1) s 3412
(-19,9)  (-19,-9  (19,-9) 5. 3 1 4 2
(.- @3 (1,3 73412
9.9 9.9 (9.9 g 3421
8.5 (8.5 (-8,5) 0. 31 2 4
(15, -4) (-15, 4) (15, 4) 0.2 3 41
(3.1) (3.) (. n4 123
(-10,-8)  (10,-8) (10, 8) 22 1 3 4
(15, 4) (-15, 4) (-15, -4) 33 1 4 2
(3.7 (3, (.7 w2341
(6.4 6.4 (6,4 5.1 2 4 3
5.7 (5,-7) 5,7 6. 4 3 2 1
(-14,9) (14, -9) (-14, -9)
(-7, -17) -7,17) (7,17)
1-10 [94]88]81]75]69]63]56]50]44] 38
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